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EER

EER

Vo=V*A*60

V: m/ mi n

A m

G=Vo/ Spv

Qr =G* Ai

Qr=G(i 1-1i 2)
i 1:

(

(

(G kg/ hr):

)
EER
Energy Efficiency Rat.i
EEéEFfggiency Rati o)
EEéfggiency Rati o)
SHkg m

(Qr kcal / hr):



4 .

2

3

i 2:
Ai :
EER
EER=

Qr=G(h1l-ha)

(kcal / W-h):

kcal / hr

Qr/ w( EER

hil:
h4:
) kcal / hr
AW G h2-h1
h1l:
h2:
C.O.P=Qr/ AW=G(h1-h4)/ G(h2-h1)
hil:
h2:
h4:
(1)
2) 100
(3)
60 110 220 110/ 220
220 220/ 380
110 2. 20 2.00
111 330 2. 70 2.30
111 330 3.30 2.60
3. 3/0 .60




K WH

1,000 (W)
1000 ( WH) 1 ( KWH)
1 1000 ( WH) 1 ( KWH)
10 1,000
10 x1, 000 10,000 ( WH)
10 ( KWH)
10
86 8
742 87 2 457

(1)

(2)
(3)
(4)
(5)
(6)

(7)



22

3/ 8
2. 0mm( ; o) 3. 5mm(
: FT-252SYE
:19220V60HZ
22W
0.11A
: 8KG
:790*265*174 * | * (mm)




: R-252SYE

:19220V60HZ

:2.43kcall/ hw

1. 028kw

: 5 A

:25A

:31kg

: 770%*530*200 * | * (mm)

. R- 22 0.69klg

21 d.b. 22 w.b.
29 d.b. 25 w.b
3. 3A
223V
v 4 m/ sec
A 0.0576 m
Q=v*A=0*0Bm7I6ec*3600Fea/ hr*0.9=746m
G=Q/ SPV=746/0.83=899kg/ hr
R=G* |1 =899*3. 7=3326kcal/hr
P=VI =223*3.3=735.5W
EER=R/ W=3326/735.5=4.5kcal/ hr/w



21 d.b. 22 w.b.
29 d.b. 25 w.b
3. 2A
223V
V 4 m/sec
A 0.0576 m
12960
Q=0. 0%54@/msec*36008eca/ hr*0.9=746m
G=Q/ SPV=746/0.83=899kg/ hr
R=G* 1 =899*3. 7=3326kcal/hr
P=VI =223*3.2=715.5W
EER=R/ W=3326/714=5 kcal/ hr/ w

20.5 d.b. 21 w.hb.
28 d.b. 24 w.b
3.2A
225V
V 4 m/sec
A 0.0576 m
Q=0.098mbmec*3600Fcha/ hr*0.9=746m
G=Q/ SPV=746/0.83=899kg/ hr
R=G* |1 =899*2. 7=2427kcal/lhr
P=VI =225*3.2=720W
EER=R/ W=2723/720=3.3 kcal/hr/w

20.5 d.b. 21 w.b.
29 d.b. 25 w.b
3. 2A
222V
V 4 m/sec
A 0.0576 m
Q=0. 0%54@/msec*36008eca/ hr*0.9=746m
G=Q/ SPV=746/0.83=899kg/ hr
R=G* 1 =899*3. 7=3326kcal/hr
P=VI =222*3.2=710.4W
EER=R/ W=3326/710.4=4.6 kcal/l hr/w
EER 33 5



( ) EER =5.4

mW s ent |m3hr psilg
2 0 mi 27. 33 27 . 3 6. 6 1050 0. 057
4 0 mi 27. 3 3. 26 .9 16/. 9 1050 0, 0
6 0 mi 27 . 29 . 3 2 7 .13 16/|. 3 1050 0.05
8 0 mi 26. 2 9. 2 5 [ 5. 2 1050 4 .05 7
100 mi 27. 29. 27, 3 16. 2 1050 0./0°¢
120 mi 28. 29. 271 6 19. 7 1050 0./0¢
140mi 28. 30. 26, 8 16. 7 1050 0./0¢
160 mi 27 9.7 2(7. 4 15.|7 10p0 0. 0|57
180 mi 28 9. 7 217. 4 15.|7 1050 0. 0|57
200 mi 27. 32. 271 7 16.5 1050 0./0¢
220 mi 2 7. 2 8| 27. 1 16. 7 1075 90|. O




22 d.b. 21 w.b.
28 d.b. 25 w.b
3. 2A
223V
V 4 m/sec
A 0.0576 m
Q=0. 0%54@8/msec*3600Fca/ hr*0.9=746m
G=Q/ SPV=746/0.83=899kg/ hr
R=G* |1 =899*3. 7=3326kcal/hr
P=VI =223*3.3=735.5W
EER=R/ W=3326/735.5=4.5 kcal/ hr/l w

19 d.b. 20 w.b.
26 d.b. 24 w.b
3.1A
222V
V 4 m/sec
A 0.0576 m
Q=0. 0%54B8/msec*3600Fca/ hr*0.9=746m
G=Q/ SPV=746/0.83=899kg/ hr
R=G* | =899*4., 3=3865.7kcal/hr
P=VI =223*3.3=668.2W
EER=R/ W=3326/735.5=5.78 kcal/hr/w
EER 45 578



( ) EER 6. 4
m/ set |m/ hr psilg
20 mi|n 26| 35 28 6. 7 050 0. 0576 1
40 mi|ln 24, 32| 28. 5 16. 950 0. 057
6 0 mi| n 27\ 30| 217 17.]2 950 4 00,0576
8 0 mi|n 27| 29| 218 16./2 950 4 00,0576
100 mi 26. 29 218 . 15. b 950 4 0.05




2 .

EER

35
EER
(
EER
EER
EER 1.0
100W
3.3
1.05kcal/ hr *30
0.95kcal/ hr*303

EER

27

EER
EER

EER =5.14
EER =6. 4

=1050W
=950WwW

30 ,

*15hr * 3.

*Ab4H20 3.

10

15

3

=1559

45

EER
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